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7|1&d & M S A = M= Moy AELY H|n

MEpt | SUoiAgH | MEEd | AN SHY W=hphabg 2 (@ta(H]) 3,304,316 3,304,316
1. 3080) 1,238,681
7k 1214: 663,800 *171E7|*3H =1,991,400 ¥ 1,991
Lt. 2, 3Q14: 506,500 174+ 7(*973H =492,824,500 ¥ 492,825
Ch 4214 377,600 *171&k7]+892H =336,819,200 A 336,819
2t 2FE 2 568,500 *170&7|*716H =407,046,000¥ 407,046
2. M3@%7)) 1,191,704
7k 1214: 652,100 %1715t 7|*3H =1,956,300 & 1,956
Lt. 2, 3Q14: 497,600 *171HE+7(*938H =466,748,800H 466,749
Ct 4214 371,000 *171&+7[+892E =330,932,000& 330,932
2}, ZE 2k 558,500 %1708 7|*702E =392,067,000 & 392,067
3. 5tA| 353,075
7k 1214 316,900 *1715}7|*3 %8 =950,7008 951
Lt. 2, 3Q14: 241,700 *17H&7(*651F =157,346,700 ¥ 157,347
Ct. 4914 (T 7| Zh): 178,6002*17HE7|*499F =89,121,4002 89,121
2k 4 (A EE7|): 71,4009*171%H7]*267H=19,063,800 19,064
Of, SE T 7| Zh: 246,00091*1 713 7]*352H =86,592,000 86,592
4. 54 520,856
7k 1914 453,100 91*1715}7|*2 8 =906,200 8 906
Lt. 2, 3Q14: 345,700 *17H&+7(*800F =276,560,000 ¥ 276,560
Ct. 4Q14(H 7| Zh): 256,8002*171E7]*350% =89,880,0002 89,880
2F 401 M (A=) 112,30094*171S47|*236H =26,502,800 26,503
O, SFE KT 7|Zh): 388,4002*170%7(*327 8 =127,006,800 127,007

Mt | A ZH | M2l | A=Y S e AR B (A H]) 1,929,763 1,929,763
1. A7) 793,209
7k 1€ 34 2,300 21*30641*54H =38,005,200 38,005
LE 12 241: 2,90090*22641*90H =58,986,000 58,986
Ch 1Y 1.541: 3,200/*17041*179%=97,376,000¢ 97,376




k) T2 M S A = H= Moy AELY H|n

2k 12 14 3,400&*1144]%1,545%H=598,842,000& 598,842
2. JH1'11(23*7I) 718,091
7k 1Y 34 2,300*28941*178 =11,299,900 & 11,300
LE 1Y 241 2,90094*212A1*85FH =52,258,0002 52,258
Ct 12 1.54]: 3,200*1594|*171%=87,004,800¥ 87,005
2k 1 146 3,4009*10741*1,560 =567,528,000 567,528
3. 8tA|(H71Zh 204,780
7h 1Y 34 2,3004*15041*2 3 =690,000 9 690
Lb. 1€ 241: 2,90021*1004{*27H=7,830,000 8 7,830
Ch 1Y 1.541: 3,200R/*7541*74% =17,760,0002 17,760
2k 12 14): 3,400*5041*1,050% =178,500,000 178,500
4. StA(AIEE]) 20,016
7k 1Y 34 2,300*604|*2H=276,0008 276
L 12 24): 2,900 *4041*9% =1,044,000 8 1,044
Ct 12 1.54]: 3,2009*304]*46H=4,416,000¢ 4,416
2F 1Y 146 3,40094%2041*210%=14,280,000 14,280
5. A (H71Zh 175,787
7 1Y 34 2,3004*12941*2 3 =593 4009 593
Lt 1€ 241: 2,90021*8641*27H =6,733,800 2 6,734
O 1< 1.541: 3,2009*644*73%=14,950,400H 14,950
2k 1 14l 3,400@1*4341*1,0508=153,510,000 153,510
6. SAAIZEE]) 17,880
7 1€ 34 2,300 %6042 E =276,000 276
LE 1Y 24]: 2,900 *4041*9H =1,044,000¥ 1,044
Ct 12 1.54]: 3,2009*304)*45%=4,320,000 ¢ 4,320
2k 12 14 3,400*2041*180E =12,240,000 8 12,240
MEtrt | QUOIAAH | dEEd | AN | LAY dERASEEE]) 120,288 120,288
1. BA1E70) 40,496
7t YLEHA: 268,000 471 E*18%=19,296,000 8 19,296
Lt 224 300,0009*47H ¥*16%=19,200,000 19,200
Ct. 7 E14d: 40,000 *252+2H=2,000,000 2,000




k) = = I Moy AELY H|n
2. d=70) 44,240
7t LEHA: 268,000 9471 &*20H =21,440,000 9 21,440
Lt B54: 300,000*47H &*17%=20,400,000 20,400
Ct. FBIAL: 40,0002/*302+2H =2,400,000 2,400
3. oA 17,776
7t LEHA: 268,000 * 271 *16H=8,576,000 8 8,576
Lt 25 4:300,000*271 &*12%=7,200,000 7,200
Ct. FBIA: 40,0008*252*2H =2,000,000 2,000
4. 4 17,776
7t LEHA: 268,000 * 271 *16H=8,576,000 8 8,576
Lt 25 4:300,000*271 &*12%=7,200,000 7,200
Ct. FBIAl: 40,0008*252+2H =2,000,000 2,000
et | +QoiAEH | Y=g WA P AEIALB E(AH|) 5,440 5,440
1. B (1EH7]): 4,000€*304*12F =1,440,000H 1,440
2. B 1123t 7]): 4,0002*304*15% =1,800,000 1,800
3. SHAl: 4,0008*3041*10% =1,200,0002 1,200
4. &A: 4,000@*2541*10%=1,000,000& 1,000
Mepr | A ZH | Yl LA WAL & (A H]) 65,250 |1. A|2FE 2l U Megxm MH| X|¥: 2,900 *4504{*50H 65,250
Mt | A ZH | g QO Wt AL = (2| ]) 140,654 140,654
1. StHA| 58,351
7k 2914 7,500*182*78H=10,530,000 10,530
Lt SFER 8,570 %202 *279H =47,820,6002 47,821
2. 374 82,303
7t 2014 9,640*152+*82H=11,857,200 11,858
Lt SFEZE 11,780*202*299H =70,444,400 70,445
et | +QoiAEH | Y=g 2 QIE Ol MEHALE E(AH]) 52,104 |1. H=’4: 4,0009*2641%501H =52,104,000 52,104
5,617,815 5,617,815




